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Quant Mega Quiz for SSC CGL Tier-II (Solutions)

$1. Ans.(c)

Sol.

Amount after 3 years = Rs. 12000
So, amount after 4Myear

112
= 12000 ¥ —— = 13440 Rs=s.
100

$2. Ans.(c)
Sol.

Let the [st part be Rs. x.
Then, 274 part = Rs. (4350 - %)

5}1 - 5!2
ax9xl  (4350—x)x10%2
100 100

9x + 20x = 4350 X 20

__ 4350%20
T 29
=Rs. 3000
Ist part = Rs. 3000
2" part = Rs. 1350

$3. Ans.(d)

Sol.

The sum be = 4-192.5;]%100
(2=2)x11
2 2

=Rs. 3750

S$4. Ans.(a)

Sol.

With reference to question

Px 222w 20— 119790
100 100 100

P=90000 Rs.

S5. Ans.(d)
Sol.
We know that
1004
1004RT
& Amount in both case will be same

S0,
2400 (100 + R x ) = 2032 (100 + R X 2.5)

HINDI

@

SSC PUBLICATION

PRIME

SSC CGL |CPO | CHSL & Others

7 Printed Books

www.bankersadda.com |

1|

www.sscadda.com

| www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.bankersadda.com/
http://www.sscadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.careerpower.in/
http://www.adda247.com/
http://www.adda247.com/
https://store.adda247.com/product-books/2690/SSC-Publication-Prime-for-CGL-CHSL-CPO-and-Other-Exams-In-Hindi-Printed-Edition

=150 (100 + R x =) = 127 (100 + 2.5R)
= 1500012700 = R (2.5 X 127 - 150 x )

23000
T (317.5-875) 10%

$6. Ans.(a)
Sol.

Amount _ 10648 1331 #1331 11
principle 8000 1000 1000 10

In 3y ears. But it is half yearly so %year = 18 months

S7. Ans.(b)

Sol.

R =16% p.a.= %% quarterly.

The amount of Rs. 17576, paid at the end of
first quarter has its principal equal to

— 17576 X (—2)1 — Rs.16900

Similarly, the principle at the end of 204

Quarter = 17576 X (—2) = Rs.16250
And at the end of 3" quarter

ney 3
= 17576 X (—2) = Rs. 15625

Net principal = Rs. (16900 + 16250 + 15625)
= Rs. 48775

$8. Ans.(a)

Sol.
Amount = Rs.(*@ﬂﬂ + M)
100

= Rs. 440
Amount returned by Ramu to Arun
= 2% of 440

=1 x 440
100

= Hs.8.8

S9. Ans.(a)

Sol.
Cl=662 P=2000 Amount=26862

T
B 10
2662 = 2000 (1 + —m)

1331 _ (11)T
1000 \10

T =3 year
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$10. Ans.(b)
Sol.
P=380,000 R=40%

_ 10 4*
C.I. =80,000 (1 + E) - 80,000
4
- SG,GUDK(E) ~ 80,000
10
- 37128 Rs.

S$11. Ans.(a)

Sol. From the following figure

Let LPUQ =6 SO0,4TUS=180—-6

£LRSQ = « SO, £TSU=180 — «
tPTR=f SO, £LUTS =180 — B

1
Area (PUQ) 5 X 18 X 24 X sin®

3
Areaof (SUT) 1. g 12 x sin(180-9)

(1)

Area (PUQ) 4
Area (SUT) 1

Similarly

1. .
Area (PTR) 3 # 27 % 24 ¥ sinf g
1

Area (SUT) 2 9 x 8 x sin (180~ B)

fromeq (1) & (2)
Areaof PUQ 4

Areaof PTR 9

- (2)

$12. Ans.(d)
Sol. Cost to carry 20 ton coal by train = 760 for 480 kms.

So, cost to carry 360 ton coal by 200 trucks for 600 kms
760 x 360 x 200 3

= X — X 600

20 x 480 19

=Rs. 5,40,000
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$13. Ans.(c)
Sol. By Apollonius theorem
(11)* + (7)? = 2 [7% 4+ (XM)?]

. 7 M7
1 2
(XM)* = 5[112— 7°] =36

IF G is centroid, it divides the altitude XM always in 2:1 ratio as shown in the figure

1
GM = =X (XM)

GM= £ x 6 = [Zem]

$14. Ans.(d)

Sol. So, about boys we are uncertain and extra data needed.

$15. Ans.(a)

Sol. S.I. of 2 year = 2000 + 2000
C.I. of 2 year =4160

Difference = 160

$16. Ans.(a)
Sol. Let total voters = x

a0
Vote casted = —x
100

Valid votes = —x — 120
100

ATQ,
(B0 150) 2L
E.\—[mnx 12{1) x4 200
82 _ 80

Ex_mux-l_gﬂ

2 x=80=x= 4000

100

Votes of winner candidate
=21 « 1000
100

= 1640

Votes of defeated candidate
= 1640 - 200

= 1440

% votes of defeated candidate

1440
29 w4000
140

% 100 = 45%
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$17. Ans.(a)

Sol. let ABC is an equilateral triangle inside which a hexagon of side x is drawn

B R X § C
Area ofAABC

=25 % 3y x 3x
4
Area of hexagon
xS xxxx
4
Ratio of

area of ABC G
= —x 100 = 66.66%
area of PQRSTU 9

$18. Ans.(b)
Sol. PQR is an equilateral triangle

In equilateral triangle

Area of PQR

= Area of POR + Area of QOP + Area of QOR
Area of POR

= Area of QOP = Area of QOR

So, Area of A QOR

:ix Area of PQR
=12 x12x12

3 4
Area of QOR= 1243 cm?

$19. Ans.(a)
Sol. Actual work done by a typist in 10 min

=20 ><£=Elines

100 5
Total work = 23 x 40 x % = 828 lines
Time required = 828 x ;—ﬂ * ﬁ

1
=7 7 hours
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$20. Ans.(d)

Sol.
4% =1/25
So,

Principal Amount

25625 26,622 = 16250
625,25 676,22 = 16900
15625 17576 = 17576

16250 + 16900 + 17576 = Rs. 50726

$21. Ans.(b)
Sol.

T 97
F_":'.'E}c':"!'.-" Q_%:-:?B'
Let95=1, 96=2, 97=3,

- 2 a=_3 -1
p= 1x3Q x4 R 3
P=0.667 Q=0.375

$22. Ans.(a)

Sol.
998

R=0.33

QQQE » 999 — 99 = 998999 — 99 = 993900
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$23. Ans.(a)
Sol.
1
9 S 11 12
>
! 1078~ 1127 ~ 1219 I
Method — 1 149 153 157
1 1i+ 17_3_ _ S}- = 2_1_ = 4_32 By cross multiply check for first two terms 151 - 155 > 159
2 + 5 10 20 9x 1127 >11x1078 By cross multiply for
11+17-5-2 4 (.1.+-§_}.___1__) 10143 » 11858 first two terms
N 2 4 5 10/ |Hence this series is wrong no need to check further| 149 X 155 > 153 x 151
5 (10 + 15-4-2) 23095 # 23103
“A 20 this series is also wrong
19 439 Method — 11 hence no need to
21+ 20 20 Reciprocal the term check further
LHS = RHS 1078 . 1127 1219
9 11 12
118 « 102 « 101
Hence,
|On1y lis right|
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S24. Ans.(a)

Sol.
Lety5=12.2;+3=17
; 2 - 3 - 5
] 3\.@ 2\.@ -’-1-\."'5
Take 1st two term series and check 3 2 7
by cross multiply II. = -
2 3 V5 33 445
= ﬁ = ﬁ Take 1st two term series and check
v v by cross multiply
Now again take last two term and check = — < —
= =)
by cross multiply V5 3v3
3 5 = g\.q < '4'\'@
= —— < —— =9x17<4x22
2V5 443 = 15.3 < 8.8
= 123 < 10V/5 this series is wrong so no need to check further
12x 1.7 < 10x 2.2
204 < 22
hence series is right

So,only I is correct

$25. Ans.(a)
Sol. We know that

1 1 1 1
(X2+T)(x3+—3)—(x+—)=x5+—5
x? X X X

Atq,
1 1 1
X+ —=5,x° +—2=23,x3 + 5 =110
X x b 4
1
x*+—=110x23 -5
X
= 2525
$26. Ans.(d)

Sol. The required number must be a factor of (11284 - 7655) or 3629.
Now, 3629 =19 x 191

So, 191 is the required number. ENGLISH ‘
S$27. Ans.(d)
Sol.
GIVEN SSC PUBLICATION
1 1 1 1
A=—+—+—+—...20 terms
1x2 1w 2x3 4x7
Break above series in two parts A=A, + A, PR|ME
1 1 1 1
Mt ra Taa Tt e (107 term) SSC CGL | CPO | CHSL & Others
1 1 1 1 1 1 1
Ay = |1-S4+ -S4 -+ 4+ -
[ : e 7 Printed Books

2 2
Al = I:l—i] = E
11 11
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&
1

A2=m+:+?xm+ +23><31
Az——[l——+———+———+ +E—H
[Sio =a+ (n-1)d = 1+ (10-1) x 3 = 28]
S P
Az _3[1 71 31
LA=A +A,
A =10 10 42
11 |31 341
$28. Ans.(b)
Sol.

GIVEN EQUATION

56 x75x60%x84x210=2P x 394 x 5* x 75
28 %X 3* x5 x 7P =2Px39Ix5" X7

On comparing both side

p=8 q=4 r=7, s=3

The value of [@] +r

:.[ﬂ +4-8

$29. Ans.(d)

Sol.

GIVEN
A=3ix43+34-T4%
A:~—x—x————|——

34 32
13 47 50 30

T32 T3 312 1

&
o1 1, 11
B=2-+5-+55-=
_ 25#1-11
T
15
" 10
S0,
A_pgo30_15_60 _3
16 10 150 8
$30. Ans.(b)
Sol. Since each Iron rod must be cut into parts of equal length and IR NI3S
each part must be as long as possible, so HCF should be taken. Bilingual

HCF of 78, 104,117 and 169 = 13.
No. of parts from 78cm. rod =78 /13=6

No. of parts from 104 em. rod =104/13=8 SSC CGL TIER-"

No. of parts from 117 em. rod =117/ 13=9
No. of parts from 169 cm. rod =169 /13=13 QUANTITATIVE APTITUDE

Maximum no. of pieces=6+8+9+ 13 =36
20 TOTAL TESTS

Validity : 2 Months
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